
What is coal made from?




a.  Dead plants 

b.  Dinosaur fossils 


c.  A whole bunch of 
chemicals mixed together 

by scientists


What percentage of the 
energy used around the 
world comes from fossil 

fuels? 

a.  None


b.  Nearly 90%

c.  40%


What does the word 
"petroleum" mean? 




a.  Rock oil


b.  Ancient Sea Creature

c.  Swamp Gas


If you live in Europe, how 
much energy do you use 
compared to a person in 

India? 




a.  About the same

b.  Twice as much


c.  Fourteen times as much




the word "petroleum" means 





a.  Rock oil (Petra + oleum)

b.  Ancient Sea Creature


c.  Swamp Gas


If you live in Europe, 
compared to a person in India 

you use

a.  About the same

b.  Twice as much


c.  Fourteen times as much

Energy


Coal is Made From




a.  Dead plants 

b.  Dinosaur fossils 


c.  A whole bunch of 
chemicals mixed together 

by scientists


energy used around the 
world comes from fossil fuels


by

a.  None


b.  Nearly 90%

c.  40%




Which of the following  
countries had a 50% increase 

in solar cell production in 


2006? 




a.  Germany

b.  Sweden


c.  USA

d.  Japan


Which innovator first 
created a device capable of 

generating alternating 
current (AC) electricity? 




a.  Thomas Edison 

b.  Nikola Tesla 


c.  Benjamin Franklin 

d.  Michael Pupin 


How much less energy is used 
to make an aluminum can 
from recycled cans rather 
than from new materials? 




a.  35%

b.  65% 

c.  75% 

d.  95% 


Which country created a 
multi- million dollar prize 
for advances in wind and 

tidal energy in 2008? 




a.  Scotland

b.  Sweden


c.  Switzerland

d.  Spain 




to make an aluminum can 
from recycled cans rather 
than from new materials 

Uses 





a.  35%

b.  65% 

c.  75% 


d.  95% Less energy


created a £10-million (16mio $) 
prize for advances in wind 

and tidal energy in 2008

a.  Scotland (Saltire Prize)


b.  Sweden

c.  Switzerland


d.  Spain 


50% increase 

in solar cell production in 


2006 Had

a.  Germany (Renewable 

Energy Law)

b.  Sweden


c.  USA

d.  Japan


first created a device capable 
of generating alternating 

current (AC) electricity

b.  Nikola Tesla 


Tesla, born in Austria-
Hungary in 1856, emigrated to 

the US, where he sold the 
patent to George Westinghouse. 




Electrical energy can be 
produced from ... 




a.  mechanical energy 


b.  chemical energy 

c.  radiant energy 

d.  all of the above 


Burning oil produces ... 




a.  nitrogen (N2)

b.  oxygen (O2)


c.  carbon dioxide (CO2)

d.  ozone (O3) 


Most of the energy we use 
originally came from ... 




a.  the Sun 


b.  the ozone layer 

c.  the center of the Earth 


d.  the oceans 


Global warming focuses on 
an increase in the level of 

which gas in the atmosphere? 




a.  ozone (O3) 

b.  sulfur dioxide (SO2) 


c.  carbon dioxide (CO2) 

d.  nitrous oxide (N2O) 




Most of the energy we use 
originally came from ... 




a.  the Sun 


b.  the ozone layer 

c.  the center of the Earth 


d.  the oceans 


Global warming focuses on 
an increase in the level in the 

atmosphere of




a.  ozone (O3) 

b.  sulfur dioxide (SO2) 


c.  carbon dioxide (CO2) 

d.  nitrous oxide (N2O) 


Electrical energy can be 
produced from ... 




a.  mechanical energy 


b.  chemical energy 

c.  radiant energy 

d.  all of the above 


Burning oil produces ... 




a.  nitrogen (N2)

b.  oxygen (O2)


c.  carbon dioxide (CO2)

d.  ozone (O3)




Renewable energy sources... 




a.  are constantly re-
produced by nature


b.  protect the ozone layer

c.  can be easily transmitted 

over long distances

d.  do not pollute the 

environment 


Which do you think has the 
most energy? 




a.  a hurricane 


b.  a nuclear bomb 

c.  all the oceans' waves 


Solar, biomass, geothermal, wind, 
and hydropower energy are 

called renewable because they ... 

a.  are clean and free to use 


b.  can be converted directly into 
heat and electricity 


c.  can be replenished by nature in 
a short period of time 


d.  do not produce air pollution 


Electricity is the movement 
of ... 




a.  Atoms

b.  Molecules

c.  Electrons

d.  neutrons 




Solar, biomass, geothermal, wind, 
and hydropower energy are 

called renewable because they ... 

a.  are clean and free to use 


b.  can be converted directly into 
heat and electricity 


c.  can be replenished by nature in 
a short period of time 


d.  do not produce air pollution


Electricity is the movement 
of ... 




a.  Atoms

b.  Molecules

c.  Electrons

d.  neutrons 


Renewable energy sources... 




a.  are constantly re-
produced by nature


b.  protect the ozone layer

c.  can be easily transmitted 

over long distances

d.  do not pollute the 

environment 


the most energy Has




a.  a hurricane (10 times B)

b.  a nuclear bomb (Same as C)


c.  all the oceans' waves 




When will the Sun stop 
shining? 




a.  Never 


b.  In a few billion years 

c.  Next week on Tuesday 


One kilowatt-hour equals ... 




a.  10 kilovolts 

b.  1000000 calories 


c.  100 Celsius

d.  1000 watt-hours 


How much energy do you 
think a bolt of lightning has? 




a.  Enough to toast 160,000 

slices of bread 

b.  Enough to toast one loaf of 

bread 

c.  Enough to toast one slice of 

bread


A 100-watt light bulb consumes 
How Much Energy in 24 

hours? 




a.  24 calories

b.  2.4 kilowatt-hours

c.  240 electron-volt


d.  2400 joules 




How much energy do you 
think a bolt of lightning has? 




a.  Enough to toast 160,000 

slices of bread 

b.  Enough to toast one loaf of 

bread 

c.  Enough to toast one slice of 

bread


in 24 hours A 100-watt light 
bulb consumes

a.  24 calories


b.  2.4 kilowatt-hours

c.  240 electron-volt


d.  2400 joules


the Sun will stop shining 




a.  Never 

b.  In a few billion years 

c.  Next week on Tuesday 


One kilowatt-hour equals ... 




a.  10 kilovolts 

b.  1000000 calories 


c.  100 Celsius

d.  1000 watt-hours 




This source of renewable 
energy is not weather 

dependent 




a.  Hydropower

b.  Wind


c.  Geothermal

d.  solar 


Cell phone batteries convert ... 
energy into electricity 




a.  Nuclear

b.  Chemical


c.  Gravitational

d.  kinetic 


The Earth gets ... solar energy 
to meet all of our energy 

needs 




a.  just enough 

b.  50 times less than enough 


c.  not enough 

d.  1000 times more than 

enough 


Green plants convert solar 
energy into ... 




a.  Hydrogen

b.  Uranium


c.  chemical energy 

d.  X-rays




The Earth gets ... solar energy 
to meet all of our energy 

needs 




a.  just enough 

b.  50 times less than enough 


c.  not enough 

d.  1000 times more than 

enough 


Green plants convert solar 
energy into ... 




a.  Hydrogen

b.  Uranium


c.  chemical energy 

d.  X-rays


This source of renewable 
energy is not weather 

dependent 




a.  Hydropower

b.  Wind


c.  Geothermal

d.  solar 


Cell phone batteries convert ... 
energy into electricity 




a.  Nuclear

b.  Chemical


c.  Gravitational

d.  kinetic 




A flywheel stores ... Energy




a.  Potential

b.  Kinetic


c.  Chemical 

d.  electrical 


how many times The heat energy 
stored in the uppermost 


10km of the Earth's crust is 
equivalent to the energy stored in 

all oil and gas? 




a.  50,000 times 

b.  500 times 


c.  5 times 

d.  0.5 times 


Geysers are examples of ... 
energy 




a.  Solar

b.  Wind

c.  Tidal


d.  geothermal 


What energy source does the 
Sun use? 




a.  Thermal


b.  Fusion

c.  Biomass


d.  light 




Geysers are examples of 




a.  Solar

b.  Wind

c.  Tidal


d.  Geothermal

energy 


	
  

The Sun Uses As Energy Source




a.  Thermal

b.  Nuclear Fusion


c.  Biomass

d.  light 


Hydrogen into Helium


A flywheel stores




a.  Potential

b.  Kinetic


c.  Chemical 

d.  electrical 


Energy




The heat energy stored in the 
uppermost 


10km of the Earth's crust is 
equivalent to




a.  50,000 times 


the energy stored in all oil 
and gas 




Can you guess what some 
farmers near Thetford, 
Norfolk, are doing with 

chicken poo? 




a.  Selling it to a power 
station 


b.  Eating it 

c.  Burying it 


What is the Sun mostly made 
of? 




a.  Water

b.  Hydrogen


c.  Iron 


The amount of Solar energy 
Reaching the Earth in one hour is 

equivalent to The world’s 
electricity needs for...? 




a.  a decade

b.  a year 


c.  a month 

d.  for a day 


What do we call the black 
spots on the surface of the 

Sun? 




a.  Sunspots

b.  Turbulences


c.  Eruptions 




The amount of Solar energy 
Reaching the Earth in one hour is 

equivalent to The world’s 
electricity needs for...? 




a.  a decade

b.  a year 


c.  a month 

d.  for a day 


What do we call the black 
spots on the surface of the 

Sun? 




a.  Sunspots

b.  Turbulences


c.  Eruptions 


Can you guess what some 
farmers near Thetford, 
Norfolk, are doing with 

chicken poo? 




a.  Selling it to a power 
station 


b.  Eating it 

c.  Burying it 


What is the Sun mostly made 
of? 




a.  Water

b.  73.5% Hydrogen, 25% Helium


c.  Iron 




How old is the Sun? 




a.  365 days 

b.  4.57 billion years 

c.  10.2 billion years 


How man times does the earth 
fit into the Sun? 




a.  3’000 times

b.  13’000 times


c.  1’300’000 (1.3 million) times 


The distance between Earth 
and Sun is about 150’000’000 

km. How long does light 
travel to cover this distance? 




a.  ~ 1 second 


b.  ~ 8 minutes 

c.  exactly 24 hours 


How hot is the surface of the 
Sun? 




a.  600°C

b.  6‘000°C

c.  10‘000°C 




The distance between Earth 
and Sun is about 150’000’000 

km. How long does light 
travel to cover this distance? 




a.  ~ 1 second 


b.  8 minutes and 19 seconds

c.  exactly 24 hours 


How hot is the surface of the 
Sun? 




a.  600°C

b.  6‘000°C

c.  10‘000°C 


How old is the Sun? 




a.  365 days 

b.  4.57 billion years 

c.  10.2 billion years 


How man times does the earth 
fit into the Sun? 




a.  3’000 times

b.  13’000 times


c.  1’300’000 (1.3 million) times 




How many 60 Watt light bulbs 
are necessary to reach the 

brightness of the Sun? 




a.  6’410 pieces 

b.  6.41 million pieces (6’410’000) 


c.  6.41 septillion pieces 
6’410’000’000’000’000’000’000’000


What is the name of the 
outermost visible layer of the 

Sun from which the rays of 
the Sun originate? 




a.  Photosphere 

b.  Atmosphere 


c.  Photography 


Question 3




a.  First

b.  Second

c.  third


Question 4




a.  First

b.  Second

c.  third




Answer 3 





a.  First

b.  Second

c.  third


Answer 4




a.  First

b.  Second

c.  third


How many 60 Watt light bulbs 
are necessary to reach the 

brightness of the Sun? 




a.  6’410 pieces 

b.  6.41 million pieces (6’410’000) 


c.  6.41 septillion pieces 
6’410’000’000’000’000’000’000’000


What is the name of the 
outermost visible layer of the 

Sun from which the rays of 
the Sun originate? 




a.  Photosphere 

b.  Atmosphere 


c.  Photography 



